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FORMATION OF EQUAITON AND ITS
SOLUTIONS.

1. Let us find for which value of 'xX' in the

equation are satisfied.
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XxX+4=9

o Watch Video Solution

2. Let us find for which value of X' in the
equation are satisfied.

X-2+4=6

o Watch Video Solution

3. Let us find for which value of X' in the

equation are satisfied.


https://dl.doubtnut.com/l/_YSMMyKUobZ4O
https://dl.doubtnut.com/l/_aH42VfN5d2oD
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X =42

o Watch Video Solution

4., Let us find for which value of 'X' in the
equation are satisfied.

Z —9
3

o Watch Video Solution

5. Which of the following are equation and

mention the variables of the equation.


https://dl.doubtnut.com/l/_LapC98aSBQVd
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Xx+5=13

o Watch Video Solution

6. Which of the following are equation and
mention the variables of the equation.

X-4=7

o Watch Video Solution

7. Which of the following are equation and

mention the variables of the equation.


https://dl.doubtnut.com/l/_kOulnrG64mNR
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3t =21

o Watch Video Solution

8. Which of the following are equation and
mention the variables of the equation.

— —9
3

o Watch Video Solution

9. Which of the following are equation and

mention the variables of the equation.


https://dl.doubtnut.com/l/_RSwIfUCneT3m
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2c +1=11

o Watch Video Solution

10. Which of the following are equation and
mention the variables of the equation.

9+4=13

o Watch Video Solution

11. Which of the following are equation and

mention the variables of the equation.


https://dl.doubtnut.com/l/_0lpLdbYprt6L
https://dl.doubtnut.com/l/_mFpC78iKWBON
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10-3=7

o Watch Video Solution

12. Which of the following are equation and
mention the variables of the equation.

20 =4y

o Watch Video Solution

13. Which of the following are equation and

mention the variables of the equation.


https://dl.doubtnut.com/l/_9GpVbshTiTsD
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7 -x=0

o Watch Video Solution

14. | have Rs. x, My father gives me Rs.2, | shall

have Rs. 18. form the euation and solve it.

° Watch Video Solution

15. Let us fill the following table and let us put

a O symbol on the value of the unknown that


https://dl.doubtnut.com/l/_LMaKHpObYBvt
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https://dl.doubtnut.com/l/_Hk1KE41Lv382

satisfies the

P+12=20

° Watch Video Solution

16. Let us fill the following table and let us put
a O symbol on the value of the unknown that
satisfies the

6m =48

o Watch Video Solution



https://dl.doubtnut.com/l/_Hk1KE41Lv382
https://dl.doubtnut.com/l/_jmnbomoBbIZf

17. Let us fill the following table and let us put
a O symbol on the value of the unknown that

satisfies the

— —9
s}

o Watch Video Solution

18. Let us fill the following table and let us put
a O symbol on the value of the unknown that
satisfies the

7-x=5

| & I


https://dl.doubtnut.com/l/_QSXN4IzLeOsH
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| ¥ Watch Video Solution

19. Solve:-

x+3=15

° Watch Video Solution

20. Solve:-

y-3=10

o Watch Video Solution



https://dl.doubtnut.com/l/_AjHCHCkoPaQf
https://dl.doubtnut.com/l/_2vzpU3nrqdrH
https://dl.doubtnut.com/l/_1WFfZvkaC04w
https://dl.doubtnut.com/l/_AknRZx6R5QqF

21. Solve:-

5x =25

o Watch Video Solution

22. Solve:-
y 2
3 9

o Watch Video Solution

23. Solve:-

5x+7 =17


https://dl.doubtnut.com/l/_AknRZx6R5QqF
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° Watch Video Solution

24, Let's read the following stories and let's
form equations.
Pratima has 7 times more number of marble

than me. Pratima has 42 marbles.

o Watch Video Solution

25, Let's read the following stories and let's

form equations.


https://dl.doubtnut.com/l/_DRxzEdkodeyP
https://dl.doubtnut.com/l/_Q8GYDNhZurrw
https://dl.doubtnut.com/l/_4xSpuzy1bsU4

Milanbabu is 4 times as old as his son. After 5
years, Milanbabu's age will be 3 time, the age

of his son.

° Watch Video Solution

26. Let's read the following stories and let's
form equations.

Rs. 187 is divided among myself, Dulai and Jahir
in such a way that Dulal got Rs. 5 less than me,

but Jahir got double of my amount.

° Watch Video Solution



https://dl.doubtnut.com/l/_4xSpuzy1bsU4
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27. Let's read the following stories and let's
form equations.

In our village, out of 3895, number of
illeterates one 1871 less than number of

literate people.

o Watch Video Solution

28. Let's read the following stories and let's
form equations.

A number which when multiplied by 12 and 48


https://dl.doubtnut.com/l/_U2vFH3mrJq2d
https://dl.doubtnut.com/l/_pH4hF4SUgYgm
https://dl.doubtnut.com/l/_srwf6R158PHI

2
subtracted from it, it becomes 23 part of the

original number.

° Watch Video Solution

29. Let's read the following stories and let's
form equations.
In the first shop of Setara Begum, there are 3

part apple, - part is organge and remaining

160 are pears.

° Watch Video Solution
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30. Let's solve the following equation.

2x =50

o Watch Video Solution

31. Let's solve the following equation.

3y + 10 = 160

° Watch Video Solution



https://dl.doubtnut.com/l/_mSAbYMl2NdYM
https://dl.doubtnut.com/l/_18R410SSu2Hy

32. Let's solve the following equation.

x
Z _Z 12
2 6 3

o Watch Video Solution

33. Let's solve the following equation.

SN
20$ = Z

o Watch Video Solution



https://dl.doubtnut.com/l/_FzqnXfy7RjGV
https://dl.doubtnut.com/l/_cT83PSlmnxZO

34. Let's solve the following equation.

ex =7

o Watch Video Solution

35. Let's solve the following equation.

I
5 =T

o Watch Video Solution



https://dl.doubtnut.com/l/_2qw5mSljuAxk
https://dl.doubtnut.com/l/_5R74Ezmow9QV

36. Let's solve the following equation.

3x=9

o Watch Video Solution

37. Let's solve the following equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_onMQrCWYBqKw
https://dl.doubtnut.com/l/_GcFa7L5RTpiZ

38. Let's solve the following equation.

5x-2=8

o Watch Video Solution

39. Let's solve the following equation.

7y +5=40

o Watch Video Solution



https://dl.doubtnut.com/l/_82JEnPrdK9yk
https://dl.doubtnut.com/l/_Pp0A09BCiApF

40. Let's solve the following equation.

12x+ 8 =7x+ 28

o Watch Video Solution

41. Let's solve the following equation.

6(77 — 3x) + 12z = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_uWRf0UwikmSa
https://dl.doubtnut.com/l/_y9RUDZqb6ZMf

42, Let's solve the following equation.

5(x+3) + 4(2x+6) =0

o Watch Video Solution

43, Let's solve the following equation.

3(6-2x) =4 (1-5x)

o Watch Video Solution



https://dl.doubtnut.com/l/_nYG6j0rdF2WL
https://dl.doubtnut.com/l/_Vn4Ek6hy8maV

44. Let's solve the following equation.

1
4

_|_

z 2 =z
2 5% 3

o Watch Video Solution

45, Let's solve the following equation.

3+2x=1—=x

o Watch Video Solution



https://dl.doubtnut.com/l/_vXHt3jjGoThN
https://dl.doubtnut.com/l/_uxG6622ahQtH

46. Let's solve the following equation.

5(2x-3) -3(3x-7) =5

o Watch Video Solution

47. Let's solve the following equation.

2x 3 7

35— 8 12

o Watch Video Solution



https://dl.doubtnut.com/l/_DSamMlVSf96X
https://dl.doubtnut.com/l/_K6jI2xuqZjtD

48. Let's solve the following equation.

3r +1 233—3_zc—|—3 1 — 3z

16 T 7 8 10

o Watch Video Solution

49, Let's solve the following equation.

2% — 3 = 3(575 2)
~ 10

o Watch Video Solution



https://dl.doubtnut.com/l/_mGirtiqWRYE5
https://dl.doubtnut.com/l/_UBuxCdYJRIQB

50. Let's solve the following equation.

a,a:—l—b_ cr + d
3 2

o Watch Video Solution

51. Let's solve the following equation.

2z + 0.06z — 6.6 = 0.4z

o Watch Video Solution



https://dl.doubtnut.com/l/_ixGifAqCKyTO
https://dl.doubtnut.com/l/_vC5hXLjmUgBT

52. Let's solve the following equation.

0.5+%:0.25+7

o Watch Video Solution

53. Let's solve the following equation.

0.18 (5x-4) =0.5x + 0.8

o Watch Video Solution



https://dl.doubtnut.com/l/_KZ711eUhyZ2Z
https://dl.doubtnut.com/l/_bi8JjDjHKjX7

54. The relations of the ages of Shibnath and
Somnath is 3:4 if sum of their ages is 21 years
then let's frame an equation to find the ages

of Shibnath and Somnath.

o Watch Video Solution

55. Let's frame the equations for the follwoing
problem and solve them.
When 6 is added to 6 times a number it

becomes 8 timnes of itself.

| & I


https://dl.doubtnut.com/l/_UgiteF1Nmz1X
https://dl.doubtnut.com/l/_J3AvYM7a3MYT

| ¥ Watch Video Solution |

56. Let's frame the equations for the follwoing
problem and solve them.
—th of a number taken away from —th of its

5 4

leaves a reaminder 2.

o Watch Video Solution

57. Let's frame the equations for the follwoing
problem and solve them.

Of two numbers one is thrice the other. If 10 is


https://dl.doubtnut.com/l/_J3AvYM7a3MYT
https://dl.doubtnut.com/l/_7ppGrVA8ivJG
https://dl.doubtnut.com/l/_Gvc4TJBVMsWN

added to the smaller number the sum

becomes Zth of the other number

° Watch Video Solution

58. Let's frame the equations for the follwoing
problem and solve them.

The length of kumar's rectangular fielf is 15
times of its breadth, the Perimeter of the land

is 400m. Let's find the length and breadth of

Kumar's land.

° Watch Video Solution
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59. Let me divide Rs. 170 among Manju, Kana
and Amal in such a way that Kana gets Rs. 30
less than twice the amount Manju gets and
Amal gets Rs. 15 more than half the amount
Kana gets Let me find how much money each

of them gets

o Watch Video Solution

60. | have got soem apples. | gave grd of my

apples to my brother. | am now left with


https://dl.doubtnut.com/l/_r7q7RiggS7cm
https://dl.doubtnut.com/l/_DbOJ0d4iK2EE
https://dl.doubtnut.com/l/_IUztp3bfendq

apples. Let me calculate how.

o Watch Video Solution

61. The ratio of the length and breadth of a
rectangles is 3:2 and its perimeter is 100m.

Let's find the area of the rectangle.

o Watch Video Solution

62. The total number of Rs. 5 and Rs. 10 coins

in my bag 20. If | have Rs. 145 in my bag. Let's


https://dl.doubtnut.com/l/_IUztp3bfendq
https://dl.doubtnut.com/l/_kbgrxEevI6fu
https://dl.doubtnut.com/l/_P3ku9noepNXJ

calculate the number of coins of each king |

had in the bag.

° Watch Video Solution

63. The three angles of a triangle are
x°,2x° and 3z°. Let us find the measure of

the greatest angle.

° Watch Video Solution



https://dl.doubtnut.com/l/_P3ku9noepNXJ
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64. Chanchala's father borrows some money to
build his house. He returned Rs. 2000. more
than grd of the money be borrowed. However
he still has to repay Rs. 27,000. Let's find the

amount of money he borrowed.

o Watch Video Solution

65. At present chadu is 8 years older than his

brother. After 5 yeras chadu's age will be


https://dl.doubtnut.com/l/_Zf7bh334wlU7
https://dl.doubtnut.com/l/_v03mxaxoApSo

double the age of his brother age. Let's find

their present age.

° Watch Video Solution
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